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Nombre: Fecha: Puntuacion:
156 x 1002 = 3x10=
889, 1 x 100 = 4% 1003 =
1x10° = —3x10° =
1003 = 1x10=
5%10% = 9x 1002 =
5% 107 = 864, 8+ 1074 =
626,4 x 1007 = 163,8+ 1007 =
9x10° = 655,2 x 1079 =
442,3+100Y = 8 x 10° =
9x 1002 = 6% 10 =

www.snowmath.com


https://www.snowmath.com

(0] le] B
Lo A oo/ (N ol .
I‘@‘I ﬁ = Exponentes negativos de 10
g @ 7 T

U

Nombre: Fecha: Puntuacion:
156 x 107 = 1.56 3% 10 =30
889, 1 x 107 = 0.8891 4% 107 = 0.004
1x10° =1 -3 x10° =-3
1072 = 0.001 1x10=10
5% 10% = 500 9x 107 =0.09
5% 107 = 0.005 864, 8 + 107% = 8648000
626,4 x 107 = 0.6264 163, 8 + 107 = 163800
9x10°=9 655,2 x 100 = 0.6552
442, 3+ 100 = 4423000 8% 10° = 8
9% 1072 =0.09 6 % 10 = 60
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